HE#HE SUF LX) (57) BIRE

@ 4 x 1 = 9 X 9
@ 7 + 3 = @ 4 + 3
©) 6 - 2 = 7 + 3
@ 9 + 5 = 7 + 1
® 7 X 2 = @ 9 X 1
® 7 x 3 = @ 6 X 6
@ 4 = 4 = @ 3 s 1
8 -+ ) = @ 2 + 2
©) 8 — 9] = @ 2 — 1
4 + 1 = ® 5 + 4
@ 8 + 1 = @ 8 + )
® 8 x 7 = @ 5 X 3
® 9 + 1 = 8 + )
6 x 5 = ) 3 X 1
® 7 X 3 = 2 X 1
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HE#HE SU4 L(1x1) (58) BRE

D 5 —~ 2 = 9 —~ 4
@ 7 + 4 = @ 6 + 1
©) ) — 2 = 9 - 9
@ 9 — 6 = 7 - 2
® 6 + ) = @ 8 + 6
® 2 — 1 = @ 8 - 2
@ 7 -+ 3 = @ 1 + 6
7 —~ 2 = ® 9 - 4
® 6 x 5 = @ 7 X 1
9 — 6 = ® 8 - 6
@ 3 x 2 = @ 7 X 3
@ 6 —~ 4 = @ 6 - 4
® 7 + 3 = 8 + )
6 X 2 = ® 7 X 1
® o + 3 = 9 + 4
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HE#HE SU4 L(x1) (59) BIE

@ 6 — 3 = 7 - 2
@ 9 X 7 = ) 9 x 5
® 9 - 3 = 6 - 4
@ 7 + 5 = 2 + 1
® 9 + 4 = ® 4 - 1
® 7 + 3 = @ 9 + )
@ 8 -+ 2 = @ ) - 1
2 + 2 = @ 3 + 1
®© 5 - 3 = ® 8 -~ 4
9 + 2 = ® 9] + )
@) 7 x 4 = @ 7 X 1
@ 8 x 2 = @ 3 x 1
® 6 - 6 = 3 + 1
8 X 3 = @ 4 x 3
® 2 — 1 = ) - 1
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HE#HE S48 L(1x1) (60) BIRE

@® 8 + 6 = 9 + 6
@ 9 — 5 = @ 7 - 6
©) 7 x 1 = 4 X 1
@ Ji — 6 = 8 - Ji
® 9 — 7 = @ 9 - 6
® 9 - 1 = @ 9 + )
@ 5 x 1 = @ 8 x 1
9 x 6 = @ 9 X 2
€) 5 + 1 = @ 8 + 1
Ji X 5 = ® 6 X 6
@ 8 x 1 = @ 7 X 3
® 9 x 2 = @ 6 X 3
® 7 — 3 = 8 - 8
7 — 4 = ) ) - 3
® 8 + 1 = 4 + 2
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HE#HE SU4 L(x1) (61) BIRE

@® 9 — 4 = 7 - 2
@ 5 + 1 = @ 8 - 4
©) 8 + 4 = 9 + 3
@ 8 X 8 = 5 x 5
® 9 x 3 = @ 9 X 2
® 9 x 8 = @ 9 X 2
@ 7 + 1 = @ 5 + 5
8 x 7 = @ 7 X 2
©) 9 + 1 = @ 5 + 2
8 X 7 = ® 8 X 7
@ 7 x 1 = @ 5 X 1
@ 8 + 7 = @ 7 + 5
® 9 + 6 = 9 + 3
4 + 1 = @ 6 + 4
® 9 x 3 = 4 X 2
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HEHE SU4 L(1x1) (62) BIE

@® 7 — 4 = 9 - 6
® 4 x 2 = @ 9 X 1
©) 9 - 9 = 9 + 9
@ 7 X 3 = 9 x 5
® 4 = 1 = @ 8 + 2
® 7 + 5 = @ 3 + 3
@ 1 - 1 = @ 3 - 2
9 + 2 = B 8 + Ji
® 4 — 3 = @ 8 — 7
8 + 4 = @ 2 + 2
@ 9 — 2 = @ 8 — 7
®@ 7 — 6 = @ 8 - 6
@ 8 + 2 = 7 + 4
4 + 4 = ® 4 + 1
® 6 — 2 = 8 - 6
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HE#HE SU4 L(1x1) (63) BIE

@ 4 - 3 = 8 + 9]
@ 9 + 5 = @ 9 = 6
® 9 + 1 = 7 + 6
@ 8 + 1 = 8 + 2
® 7 + 4 = @ 9 + 6
® ) -+ 4 = @ 8 + )
@ 9 — 1 = @ 9 - 4
5 - 1 = ® 8 - 4
© 4 - 1 = ® 8 - 7
8 + 3 = ® 9 + 6
@ 8 + Ji = @ 7 - )
®@ 9 X 1 = @ 7 X 3
® 3 + 1 = 4 + 3
6 — 3 = @ 6 - 6
® 3 + 3 = 8 + 2
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HE#HE SU4 L(1x1) (64) BIRE

@ 8 + 7 = 7 + 6
@ ) - ) = ) 2 + 1
©) Ji - 4 = 9 + 2
@ 9 — 1 = 9 - 2
® 9 x 8 = @ 5 X 2
® 8 + 9] = @ 8 + 6
@ 7 + 7 = @ 1 + 2
3 x 1 = @ 8 X 1
©) 8 — 1 = @ 1 - 3
4 + 2 = ® 4 + 2
@ 6 + 4 = ® 8 + 4
®@ 7 — 1 = @ 8 - 6
® 9 + Ji = 8 + 2
8 X 6 = ® 2 X 1
® 7 + 2 = 3 + 2
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